ERFHALAKERBARENELSR
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[Bifi]u Sv/h

[AlE#E8]10) 7/ LA S A2700

w
X

ol bt Sl ik

A=

= 5% AEE A ATIBT | HEORE
Tm 50cm 5cm

1 E—IMER 68188 0.05 0.05 005 | 43IUF *
2\ IR 68148 0.06 0.06 006 | J59F +
3| EZINER 68148 0.05 0.05 005 | 4F3IUF *
4\ B/ NERR 68128 0.05 0.05 008 | 4JIIF +
5 #db/ g 68188 0.03 0.04 004 | TFIUF *
6| ffk/NERR 68128 0.05 0.05 005 | 4J359F +
7| AL E T INER 68118 0.05 0.05 005 | JI9F +
8| =B Il EAR 681180 0.07 0.06 006 | JIIUK +
9 RFINER 68118 0.05 0.05 005 | JI9F +
10 ;84L& /DR 6810H 0.05 0.05 004 | TITIUK +
1 FARNFERR 68148 0.09 0.09 009 | JI9UF +
12| RINERR 6810H 0.06 0.06 005 | JI9UK +
13| ffkr/h 68148 0.06 0.06 006 | JIIF +
1 HRBFHPER 68128 0.05 0.05 005 | JI9UK +
2 e R 68148 0.10 0.1 0.11 TooUk +
3| LR FRR 6810H 0.08 0.08 009 | UIIUK +
4 AL E PR 68148 0.07 0.07 007 | JI9UF +
5| AFRHPER 681180 0.07 0.07 007 | 4J359F +
6| B3 1Lsh s 68148 0.05 0.05 005 | I +
1 —/INEEREE 68138 = 0.08 = 0|
2NN EREEE— 68128 - 0.08 - |
I MNSEEREEE = 68128 - 0.07 - =R
IBRFINFEREEE— 6A128 - 0.07 - 0|
5 BFINEEREEE - 68128 = 0.07 = 0|
6 RFNEERBEE= 6A108 - 0.07 - EN
1 EARNEEREE 68108 = 0.08 = =R
8 INFEREE 68178 - 0.07 - =R
9 =INFEREE 68128 = 0.05 = =R
10 5HLUFERETEE— 6A128 - 0.05 - =R
NEFLFEREEE - 68128 = 0.05 = 0|
12/t EBNEEREE 68178 - 0.07 - =R
1B ERNEFEREE 68128 = 0.07 = 0|
14 L NEEREE 68118 - 0.08 - =R
15 \IRNFEREE 68148 - 0.06 = 0|
16| FE/NFEREE 65130 - 0.07 - =KX
17| fiEmNEEREE 68108 - 0.06 = 0|
18| —INHU>Fo5T 68138 - 0.08 - =R
19 BRENHU>FI5T 68128 - 0.07 = 0|
20 =INHUSFI77 68128 - 0.08 - =R
21 BB NHU>TFITT 68178 - 0.08 = 0|
22 AL ERNHV>FI5T 68128 - 0.07 - =R
LB RPNFEREE 68128 0.21 0.20 0.18 Bt 2 FAI7ILK
24 BHLNFEREE 68128 0.06 0.07 0.07 i rh s +
25 SINFEREE 68128 0.09 0.08 008 | AOfR C ROV 0%;)
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[Bifi]u Sv/h
[AlIE#E8]0) 7/ LA £ A2700

= BlES
N g4 mER HES HESH | HEORE
m 50cm 5cm
BEREE IEPOEHFREE - - - ERE +
HKLHEREE 5H298 0.12 0.11 0.12 EBE +
F_E HFREER 58298 0.07 0.08 0.06 E3)E +
AL RIEEE 582908 0.10 0.10 0.1 BE5E G
1,@,% TAREEFE 58290 0.07 0.07 0.08 E3)r +
BRHUVKREER 5H298 0.05 0.06 0.06 EBE +
= HiLaREE 5829H 0.08 0.10 0.10 E +
<h<EH 5H298 0.07 0.07 0.06 R +
ZELFEELI— 58290 0.07 0.07 0.07 R B.Z
LR ER 58158 0.07 0.08 0.07 EE +
MEEREE 5815H 0.10 0.09 0.10 B3} x
BEEREE 58158 0.15 0.15 0.12 EE AIZ
EHREE 58158 0.06 0.06 0.06 BE *
ﬁ BEREER 58158 0.08 0.10 0.10 EEE x
1‘ HEREE 5815H 0.07 0.07 0.07 B3} x
é REENEREER 58158 0.09 0.07 0.07 EE +
= NHZEXFREGBERER 58158 0.06 0.06 0.06 B3} x
7oz YHREER 58158 0.07 0.07 0.08 ERE +
DIEHHRER 5815H 0.09 0.07 0.09 B3} x
EMREE 58158 0.06 0.06 0.07 EE 2t
EF-ESURHURER 5815H 0.05 0.05 0.05 EBE ALZ
HIEZHHE-OIEZDHFEBEER 5H30H 0.13 0.12 0.12 EE +
U YRR 5829H 0.09 0.09 0.09 EE EE
EENHE 5H29H 0.08 0.08 0.10 ERE +
WAL E SR 58298 0.07 0.08 0.08 BBz +
LB LS5 FHEE 5H29H 0.08 0.08 0.08 ERE +
HEYHE 5A30H 0.10 0.09 0.11 B3] +
—EEHHE 5A30H 0.07 0.07 0.07 ERE +
I—FILHHE 58298 0.08 0.08 0.09 ERE +
KL DY FHE 5H29H 0.08 0.08 0.08 ERE +
MEEHHE 58298 0.08 0.08 0.07 BE +
EBFEREAORAE 6A3H = 0.08 - Rk B
EBRTFREOBALE 6HA3H - 0.08 - R B
KLE2ELE 6H6H = 0.09 = 2eP S *
I HKLHIELE 6H6H - 0.13 - th +
Bildb 2B 6A7H = 0.08 = 2P S FARI7ILE
— ERFINDVES 6A3H - 0.13 - R avyy—k
57 HBRFRELE 6A3H = 0.08 = ES *
% ERTFEEAE 6838 - 0.09 - R t.=
¥+ BEERH 684H - 0.20 - ik t-=
% FEALE 6858 - 0.20 - R x
- BHEESNE 6A5H = 0.05 - rh g B
RFEMARLE 6A7H - 0.09 - eF 3 =
SHtRAR 6A5H 0.15 - rh g £
MAEFLELOWBUE 6A7H - 0.10 - Rk =1
ERFIHELLAR 6A3H - 0.09 = g +
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[Bifi]u Sv/h
[AlIE#E8]0) 7/ LA £ A2700

s ) _ BES 1 = .
K4 E5 fEE% % BIER ; BIEZAT | MiEDOIKRE
m 50cm 5cm
16| BB FHERLE 6A58 - 0.12 - R x
17| BUEELE 6878 = 0.12 = R +
18| FELMES A E 6A6H - 0.07 - =13 B
19| LSRR A B 6858 - 0.08 = EE S B
20| AFRBHITIZOLE 6A6H - 0.07 - h g +
21| ZEHLAE 6858 - 0.11 = EE S B
22 $ZFERR#R Hh 6A5H - 0.1 - thh B
23| EM1SAE 6858 - 0.22 = EES B
24| ZASNE 6858 - 0.15 - b {o8—OyFLy
25 i AKR1S2E 6868 = 0.10 = R =
26| FKNFEXENE 684H - 0.07 - =) 3
21 REFZEFARRLE 6878 = 0.11 = R =
28 RFZFARILLE 6878 - 0.10 - tha =
29 REFZEFARRMLE 6878 = 0.11 = R =
30| EHAE 685H - 0.09 - =) 3
31 EHEAR 6858 - 0.08 - RighR +
32| KLEH3ELAHE 6A6H - 0.06 - thh +
33| DKLEFEELE 6A6H = 0.09 - LG *
34| KXLEF6 S E 6868 - 0.10 - ILighR T-E
7N 35 KXLE75LE 6868 - 0.09 = R =
36| DKLEYA/ XA E 6868 - 0.10 - S +
- 37| RF EAENE 6FA5H = 0.26 - REPR t-=
2‘; 38 | AL BRIFIL A E 6A5H - 0.09 - ek 3 =
% 39 LERIFFE AR 6H58 - 0.12 - R SLFvT S
ol 40 RFERLE 6A5H - 0.21 - BIBHRR | Avs—avEyy
X N EBFOBLONE 6838 = 0.10 - LG +
~ 2 FZBFYIILE 6838 - 0.13 - ILighR +
B BB TFHELE 6838 = 0.10 = 2eP S avy)—k
44| BRTHRIELE 6838 - 0.13 - th +
45 AL AR 6878 = 0.17 - LG *
46 MRF AL AR 6878 - 0.16 - Rt i
47 P LEHELAE 6878 = 0.16 - LG *
48 R PR kit 6878 - 0.30 - BT FEOfHA T-E
49 BILFEAE 6878 = 0.19 - EERERYQ B
50 LR 6878 - 0.18 - ILighR +
51| BILEEAE 6A7H = 0.21 - AR +
52 AFRHITHAHLE 6A6H - 0.06 - BEThR =
53| DKLEFI S AR 6H6H = 0.11 = 2P S +
54| RFILAE 6A5H - 0.12 - R =1
55 RFILRAE 6A5H - 0.18 = R "
56 ZHE—LE 6A5H - 0.10 - =3 =
57| ZEFRAE 6A7H = 0.10 = 2P S +
58 | i R3S A E 6A6H - 0.10 - R =1
59| i R4ENE 6H6H = 0.09 = 2eP S +
60| AR5S5 2 H 6H6H - 0.09 - PR B
61| ARV IARDNE 6878 - 0.08 = R B

—3- HRFHBATRE R RE



[Bifi]u Sv/h
[AlIE#E8]0) 7/ LA £ A2700

MR | - i AES T o
K4 E5 fEE% % BIER ; BIEZAT | MiEDOIKRE
m 50cm 5cm
62| FFDHAE 6848 - 0.14 - b +
63 FHEAE 6848 = 0.13 = R +
64 HN2ENE 6858 - 0.08 - b =]
(i, WA=2/N | 6A6H - 0.10 = eF 3 B
N 66|11+ D L5 6848 - 0.08 - thR +
67 #InE 6548 - 0.16 - sk +
PR 68 LocEAE 6A48 - 0.08 - R B
el 69 KREAE 6848 = 0.09 = Hhk =1
% 70| REAE 684A - 0.08 - thk =
¥ BRAEZN 687H - 0.25 - ik =
ﬂlzij' 72| F/ g 6A48 - 0.24 - R x
_ VRIE NGNS 6A5H = 0.06 - rh B
74 |BAE #xith 6A4H - 0.17 - B avy)—k
75 iR FYE R AL fxih 6858 = 0.20 = B +
76 D<LEF2 5 #%ih 6RA6H - 0.30 - =53 +
77| DK LEF 1 Bt 6868 = 0.26 = R =
18| XX FED L5 6RA5H - 0.14 - =53 =]
79 SEFILMILAE 6848 = 0.26 - rh B
80| RIS AL AE 6810H - 0.08 - tha =1
81 EIFEHRAR 68108 = 0.10 - thf B
82 EIFERAE 6810H - 0.06 - tha +
83 KIFA AR 68108 = 0.26 - rh B
84 EIFEF AR 6811H - 0.20 - hk =1
85 REATHLE 6810 = 0.11 - SAESHEER *
86 REEMARE 68108 - 0.18 - R +
87 EABRAE 6838 = 0.22 - R =]
88| RCALAE 6HA3H - 0.20 - Btk +
I\ 89 R25E 6838 = 0.18 = 2eP S *
90 RAENE 6538 - 0.07 - R +
R N EBA1SLE 6F4H = 0.06 = Hhk =1
x 92 ZBHA2ENE 68108 - 0.08 - hk =1
S 93 2HAELE 68108 - 0.10 - Hhk k=S
2 RN 6838 - 0.07 - ik =
U 95 ZBHASFAE 6A4H = 0.16 - Rk ae
.% 96 X B85 LE 6848 - 0.17 - th +
97 ZRHFRTESLNE 6A4H = 0.14 - Rk ae
98| LA RLE 68118 - 0.22 - thk +
9 FILETHAE 6810 = 0.09 = 2P S +
100 ;ERI A A E 6A4H - 0.19 - =3 =
101 B FIRE 6H48 = 0.17 = R avyy—k
102 BEE AR 68108 - 0.09 - eF 3 =
103| T FERINE 6A7H = 0.18 - Rk B
104| ForE152E 6A7H - 0.18 - thf +
105 REBRFE5ELE 6A7H = 0.07 - thf e
106 REH A E 68108 - 0.12 - th +
107| (fR) RELE 6838 = 0.25 - thf =]
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[Bifi]u Sv/h

[AlIE#E8]0) 7/ LA £ A2700

( MEFohHM ) E>

5 BES _
&5 g AIE B BIFEIZFT | HEOIKEE
Tm 50cm 5cm
108 R1S5AE 6A3H 0.08 R B
109| R3ISLE 6838 0.05 R +
110 R55AE 6A4H 0.19 thR *
11| R6SAE 6838 0.13 R +
12| RS DE 6A3H 0.10 R B
113| R8BS AE 6A3H 0.24 eF 3 B
14| ROSAE 6A4H 0.28 R B
115 R105 2 E 6A3H 0.13 EES JLA g
16| R1ITELAE 6A3H 0.16 R I/ g%
117/hNEAE 6848 0.22 eE 3L ] =
18| BB FERLE 6A4R 0.18 WEEFiE ILAHE
19| S E ILABAE 6848 0.15 WEERIGH R +
120 S HIL/NELE 648 0.22 R x
121 | dL A E 6848 0.27 g T-®
122 FEFE AR 6A4R 0.19 R B
123| B A E 6848 0.20 R =
124 FLAEELE 68108 0.10 h g +
125 REBHRLE 6A108 0.13 g *
126 ESEFILFIR AR 6848 0.16 R x
1271 REBRFISL/E 6878 0.09 R =
128 REBRTF4S/E 6848 0.19 th x
129 RERF252E 6878 0.13 g *
130 FILEILAE 68108 0.16 R +
131 E TFAE 6A108 0.19 R "
132 FLERAR 68108 0.09 ek 3 =
133| ForFRAAE 6878 0.21 R "
134| # AR A E 6A78 0.17 R B
135 ERFHROHF 68178 0.18 NYFRiGHR =
136 AARAE 68108 0.18 EYEISHE RIS h R +
137| I F A5 6A108 0.12 g a
138| S E7 LUK AR 6848 0.15 PR +
139 FlrEHAAAE 6A118 0.18 g *
140 it & h R AE 68108 0.14 ek 3 =
141|ildt &5 51 E 6A108 0.16 R "
142t E652E 681180 0.20 PR =
1438752 E 681180 0.19 R B
144 BEHLAE 681180 0.15 eF 3 =
145 EF FELDMEV S 6A118 0.09 AN FARI7ILE
146 HRPSIMYAE 6A11H 0.18 R x
147 ik SHT AR 6A118 0.19 g T-z4
148| HEYBZELDHVIG 6A11H 0.09 R x
149| H AR A E 6A118 0.17 BEAAO T REE
150 FETRDFHF 68178 0.13 AR T OEEHR T
151 it B EICAE 68118 0.12 2 B
152| it &845 2 E 6A11H 0.16 R iR AR B
153 it 828 0 E 681180 0.16 thR *
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[Bifi]u Sv/h
[AlIE#E8]0) 7/ LA £ A2700

_ AER _
fEE% % BIER BIEBAT | HhEDIKEE
Tm 50cm 5cm
B Ao E= /NS 68118 - 0.14 - b =]
b B A= K= /N 68118 - 0.15 = EE S B
B Ao R =N 68118 - 0.19 - b =]
o] .= BN 68118 - 0.16 - th B
RlsFRIAE 68118 - 0.20 - b =]
Ll LA oS- /N 6R118 = 0.17 - th g B
s REEE 68118 - 0.15 - b +
b & ki 68118 = 0.14 - th g ae
FIHRNP S5 E 68118 - 0.15 - th e =
R[EBEILE 68118 = 0.19 - thf B
[k 510 Wil /N 68118 - 0.15 - R = o
FAEEE NE 68118 - 0.20 - BLEBthxR e
EOE 68118 - 0.15 - b b=
FAREFAE 68178 = 0.11 - thf 3e
FARE G B G AE 5 i) 681780 - 0.16 - tha =]
N 2EVDOLAE 6811H - 0.18 - thR B
HOLNE 68178 - 0.19 - ha =
- FARREAR 681780 - 0.16 - b =)
ﬁ PREELE 68118 - 0.15 - R SRR
Hh FARIALLE 6A11H - 0.18 - i B
X FADYDALE 6R11H - 0.16 - g =
~ HRFRTDOARLE 6811H = 0.18 - rh B
PAREELE 6811H - 0.19 - tha =1
FAKRT AR 68178 = 0.15 - Rk B
FRREEE 6811H - 0.11 - R FARI7ILE
Pl At i N 6A178 = 0.18 = R "
LRt R A E 68178 - 0.12 - h R +
IRt FELDHEUE 6A118 = 0.16 = R +
EHOLER 6811H - 0.19 - th +
&/ Hm kit 681780 - 0.18 - thg =
& / Mk ith 681780 - 0.18 - tha =1
B/H50EH 68178 = 0.15 - R =]
Eil = NE| 681780 - 0.21 - tha =]
AEAE 68178 = 0.17 - th g e
N FEATAE 68178 - 0.12 - thf B
k12 AE 68178 - 009 Y +
o kI ANE 68178 - 0.14 - thg =
E IR R=F/NE 681780 - 0.15 - thg =)
Hh fafem RO 6A178 - 0.17 - EDLETR =
X EaoE 6R17H = 0.14 = thg B
~ RTAELE 681780 - 0.07 - =oF> 3 =
=3 @ENE 68178 - 0.15 - i =1
ETRAE 68178 - 0.16 - =oF> 3 B
REF LB 68178 = 0.13 - EEfHHE ae
FEHE2EAR 68175 - 0.12 - [RIBP R (F D) B
S I RE=/NE| 68178 = 0.17 - rh B
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[Bifi]u Sv/h
[AlIE#E8]0) 7/ LA £ A2700

_ : AT o
&5 g AIE B BIFEIZFT | HEOIKEE
Tm 50cm 5cm
200 FFE4SLE 68178 - 0.15 - thh B
201 FRE15AE 681780 - 0.15 | Bk (s A A =
202 |t B AR 6A17H - 0.08 - R x
203 LB N E 681780 = 0.14 = R +
NI 204 FilE SR T FELDWVE 68178 - 0.08 - EEMHE t
205 #fk2 2 N E 6A178 - 0.13 - R ==
I 206 |£325 N E 68178 - 0.08 - thh B
E 207 i EBNE 6A178 - 0.14 = EES B
Ol 208 fitt KK ERE 6A17H - 0.08 - R x
= 209 Fr{ZEET T AE 6H8178 - 0.13 - R B
el 210 FiEE 1S AR 6A178 - 0.14 - hh =
211 | R PR i 68178 = 0.15 = A =
212| [Rth R #Rh 68178 - 0.18 - thh =
213| KiF kit 68178 = 0.14 - AOfhE =
214| B EqTHR b 68178 - 0.1 - ADOftiE x
1 FETHRY—ER 24— 6A148 0.08 0.09 0.09 HAO FARI7ILE
2 FIRITHRY—EREV 42— 6814H 0.09 0.11 0.12 HAO O S=E )
3 LT —E R 2 — 68148 0.13 0.13 0.14 HAOD FTRAI7IVE
4 LB TR —ER = 4— 68148 0.10 0.1 0.08 HBAO FRI7ILE
5 REBITHRY—ER 44— 68148 0.10 0.11 0.12 HAO L E=DESYY)
6| OXLEBITHRY—EREVE— 6A14H 0.14 0.17 0.18 HAO FAI7ILE
1 BEBRFITRY—EREV 42— 68148 0.12 0.14 0.17 HAO L E=DESYY )
1 RFaEEE2— 68178 0.15 0.17 0.21 B[] avo—k
2 AFRERE 52— 681780 0.12 0.14 0.17 B[] a9 —k
I REBIEMEEZ— 68178 0.15 0.16 0.17 B[] avo—k
4L &Rt 52— 681780 0.15 0.17 0.21 B[] a9 —k
5| Rt 52— 68178 0.10 0.11 0.09 BN avHy—k
6| fiEmalE 2 2— 681780 0.11 0.10 0.10 B[] a9 —k
1 BBFIERE2— ARKE 68178 0.10 0.10 0.09 BN avyy—k
8| HBFIEB o 2— DLEALE 6A178 0.11 0.11 0.13 | 2F%Edan avyy—k
9 idtEMREL2— 68178 0.10 0.11 0.14 B[] avo—k
10| FmiEH RtV 2—RT—Savh—iL 6A178 0.05 0.06 0.07 | 2FAOAI avyy—k
1\ EBRFrEaEEE 52— 68178 0.06 - - 8F ERNZMIL
12| BUIHRISY 6A178 0.14 0.15 0.17 BAE:L] a9 —k
13/ i 4—CEh U 68178 0.15 0.14 0.15 BN avyy—k
14/ AL A— S5 SO R 6A178 0.10 0.11 0.12 BT avyy—k
1 HoEE 68108 0.09 0.09 0.08 EA:=ET] EES
2 [EEERUL I 2— 68108 0.21 0.25 024 | JIIUK =
3 ZEABHL L 2— DDLU 68198 0.09 0.10 0.10 BN FARI7ILE
4\ FEE R 2 — 68198 0.22 0.21 0.23 BAE:L] FTRAI7ILE
5| RFfEit 24— 68128 0.21 0.20 0.18 | EIEIZAR | FRI7ILE
6 R 42— 6HA3R 0.10 0.11 012 | BIEZHR | FRI7IE
S=EG 6838 - 0.06 -l 1BHAE R
11 7ERA 6A7H 0.18 0.18 0.17 BE i
2| bt X N REE 6878 0.14 0.18 0.21 ErE15 L
3 TMRREEHILE 7 EE 6A7H 0.09 0.11 0.12 | FIRHEREERATA
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[Bifi]u Sv/h
[AlIE#E8]0) 7/ LA £ A2700

= HEs
N s mER RS MESF | HEORE
m 50cm 5cm

4T REEEREDE 6878 0.10 0.13 012 | EXEIG{HA =
5 SDIEME 68118 0.08 0.10 0.12 ErEi5 FARI7ILE
6|2 H+ % N iT S8 (BY) 68118 0.06 - - BE1R
7| IBFFAIE 68118 0.08 0.08 0.08 B ooy +
8| 3L B EE IR E 68118 0.12 0.16 0.21 A0t FF -+
9 EM=E 68118 0.07 - - 1EXRER
10| B EE 6811H 0.10 0.10 0.07 EtEiZ FARI7ILE
N SEERBHER 68118 0.10 = = 48
12| BHLREE 68118 0.17 0.18 019 | ARk B
1 ERWREE RIS (HEYDILEE) 68118 0.15 0.16 0.17 th Y- 2
2| EARMEE RS (RAR—YE15) 6811H 0.12 0.13 0.13 tha x
3 BT EFIKIG 6A108 0.07 0.09 0.08 |ABEHVRR—R{$3E *
4| &R EF KIS 68108 0.13 0.13 0.13 hh B2
5 T ARE D EEF RIS 6A108 0.07 0.06 0.07 |EhVER—R{H3E *
6| SNHBLFrTi5 68118 0.16 0.17 0.18 PR B2
7 1Bt S B akis 6A108 0.12 0.14 0.13 | EHVRR—R{Fif +
8\ ik T % B HEELG (Li5) 6810H 0.13 0.13 0.14 thh B.®
9|tk T % BRESN LIS (5 E5 KR 6A108 0.11 0.11 0.11 B[] Y-
10| RIAEEE (3BEAT) 6818H 0.07 0.08 0.09 B3 L] 1o8—nvELy
1| RAEE (FEkiz) 6A18H 0.08 0.09 0.09 |EHYRER—R{Fif +
12| HTRAEE (F=Xa—k) 68188 0.11 0.12 0.13 AQftiE BAAIZ
13| FIAR D S SN E (B EkIZ) 6818H 0.15 0.15 0.15 thk 2
14| FFR)ID S50 (Hyh—1i5) 6818H 0.14 0.13 0.14 tha B.¥
15 |RIRIIDSHSAE (70— HEREI—R) 6810H 0.15 0.16 0.16 eF 3 Y- 2
16| i#dL & P RN E (B Eki5) 68108 0.05 0.06 0.06 |EHURA—R{Fif +
17/ &P RAB(T=R3—F) 6A108 0.06 0.07 0.07 g *
18| FHIBLE(TF=Xa—k) 68108 0.21 0.24 0.28 AQftiE +
19| 2K L% % B BB LS (£ DILIS) 68108 0.26 0.27 0.29 th Y- 2
20 24 LE & BEEELIS (RAR—Ya—F) 68108 0.25 0.26 0.26 hk ZAR—ya—k
1 BEHRRA 6A178 0.08 0.09 0.10 ZEASMAI FRAI7ILE
2N FER 68178 0.08 0.10 0.10 BAE LN FARI7ILE
39—t — 6118 0.13 0.15 0.15 EFEATHI FARAI7ILE
4 ANHVIE 68128 0.16 0.18 0.21 EtEin FRAI7IVE
5| TR (KRITE) 6878 0.13 0.14 0.14 | EEXMEaT BiEly| 7R I7)LE
6 TR GE=H) 6878 0.08 0.08 0.07 AR FARI7ILE
7L & K5 6A118 0.12 0.13 0.12 | No.2E2/Kith s | 7RI7ILE
8| AFREKIE 6A11H 0.18 0.25 035 | Ea/Kith A x
9 EFFAKE 6811H 0.20 0.17 0.19 | EEXBEA] LA
10| FESHFHE 6H208 0.13 0.12 0.09 BN avyy—t
11| 2KLEHHE 6A188 0.11 0.11 0.13 Es FARI7ILE
12| BCHIRE 68178 0.09 0.09 011 | FT&EERI | 7AI7ILE
13| BEE I E 6A178 0.11 0.12 0.13 =) FARI7ILE
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